20228 Ml HIEZ LA

(HRERIIEHEH)

B AYANE B2 (SHe &e)

= dus | e =2 = i =
2| & = (A) (B) M==(B-A) | HIZ (%) 2| & =2 (A) (B) H==(B-A) | HIS (%)
M & A 1,480,747] 1,456,902] 23,845 A2l (M E 3 A 1,480,747 1,456,902 N23,845 A2
A= 66,736 44,786 221,950 A33 AL HI 425,594 414,731 A 10,863 A3
A== 66,736 44,786 A21,950 N33 o124d| 373,423 366,937 AB,486 N2
KIS ALSI A A ALS 65,392 44,056 ~A21,336 A33 =0 (2x32) 241,840 241,840 0 0
AREREdz+ 1,344 730 N614 A46 =0 (X2 2,500 0 A2,500 A100
2x3+¢ 1,297,174 1,297,174 0 SO (HAMUS(FAR)) 2,500 2,500 0 0
2x3+¢ 1,297,174 1,297,174 0 0 M= (BX3) 61,884 61,884 0 0
20X 3+¢ 581,102 581,102 0 0 M= (H2) 2,120 360 A1,760 AB3
NEEXZS+E 400,928 400,928 0 0 SR IZLENNYZ(BEXZ) 25,643 25,643 0 0
ANZARAEEXZZ L 279,144 279,144 0 0 SR ZULENNYZ(NEL) 900 0 A900 A100
IEtE A2+ 36,000 36,000 0 S IZULENNYZ(FEA2) 900 0 A900 A100
SA3 30,553 29,103 A 1,450 VaNG) A BERES(EXZ) 31,200 31,200 0 0
S+ 30,553 29,103 A 1,450 VaNG) A BEEES(AELY) 368 1 A 367 A100
PNESEEa =Rl 24,553 24,553 0 0 JIEtEMEHI(BEZ) 2,528 2,528 0 0
HXE=d=s+¢ 6,000 4,550 A 1,450 A4 JIEtE MU (HREE) 1,040 981 AB9 NG
del= 5,000 5,000 0 0 HRFAI 1,717 9,317 A2,400 A20
del= 5,000 5,000 0 0 JA2HHI(BX3) 4,000 4,000 0 0
Holde 3z 5,000 5,000 0 0 JZ2HHI(NEE) 6,000 3,600 A2,400 240
=k 79,695 79,695 0 0 sloH(BEX3) 1,717 1,717 0 0
=k 79,695 79,695 0 0 2gl 40,454 38,477 A1,977 YANG)
dEz 0|23 11,002 11,002 0 0 oH(2=2) 1,047 1,047 0 0




B A2AE &2 (SH9: &)

1= wow | Bew = = wuw | zus =2
2| & = (A) (B) H==(B-A) | HIZ(%) o | = (A) (B) H==(B-A) | HIS(%)
HEC 0122 (FR3) 68,693 68,693 0 0 ol (X2 ) 600 0 A600 A 100
g 1,589 1,144 N445 A28 +ZHL++2(E2X2) 8,966 8,966 0 0
g 1,589 1,144 N445 A28 +ZH L2 (NREY) 100 74 NP6 NP6
JIEtH =0l Rt~ 300 26 N2T74 A9 +ZHL++2(FE2) 100 0 A 100 A 100
JIE & =g 1,289 1,118 AT A13 2323(EX3) 4,806 4,806 0 0
22323 (NRE) 300 99 A201 AB7
HMAZBn2(EX3) 5,828 5,828 0 0
A2 (HE) 100 9 A91 A91
AHH(EX3) 4,693 4,693 0 0
(R E) 100 0 A 100 A 100
JIEt2gE(Bx3) 4,679 4,679 0 0
JIEt2gHI(XRE) 8,634 8,276 A 358 A4
JIEt2YE(ZA3) 500 0 A500 A 100
TH&EE A I 11,859 4,705 AT,154 AB0
A&t 11,859 4,705 AT,154 AB0
TatF SHI(BEZ2) 2,000 2,000 0 0
RrabE SHI(GRE) 6,630 0 26,630 A 100
ANEEHIKBI(EEZ) 2,705 2,705 0 0
ANEEHISXBI(HEE) 374 0 A374 A100
ANEZHRAH(Z2) 150 0 A 150 A 100
At I 1,039,504 1,018,768 220,736 A2
S A I 74,564 64,448 210,116 A4
IIE2AALE(EEZ) 11,150 11,150 0 0
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2 2022 2022\ e 2022\ 2022\
Ofl &F 04 2 Aol Ofl &k 04 2 Arol
e = (A) (B) 2| g = (A) (B)
PSS AHASHI (X2 120 0
IISEAANLH(ZAZ 2,200 2,000
IISMEALH(BXZ 11,098 11,098
IISMEALH(ZAZ 14,160 11,900
NEUSNt=XEBS 9,948 9,948
IIEWENGt=XEBS 872 500
NEUSNt=XEBS 11,077 4,983
XS ALS A H A I 300 300
XS ALS A H A I 470 0
SEANYH(EXZE) 12,569 12,569
SEEANLHI(KEH) 100 0
EPANHH(=E3) 500 0
SHE2 WS ASYI 164,531 163,788
BISAIZHI(EX2) 143,448 143,448
B AR HI (KR ) 1,523 780
BIESAH(EX2) 19,560 19,560 0
2= A O AFS I 5,000 5,000 0 0
S A B A HI 5,000 5,000 0 0
S ALY 20,000 20,000 0 0
234l 6,275 6,275 0 0
AFSHI 13,725 13,725 0 0
SHAXJAASYI 34,288 34,288 0 0
ol H| 30,980 30,980 0 0
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= wow | Bew = = wuw | zus =7

2| & = (A) (B) H==(B-A) | HIZ(%) o | = (A) (B) H==(B-A) | HIS(%)
olAb (Yol S (FAZ)) 2,500 2,500 0 0
=24l 808 808 0 0
OIS AU AL HI 33,943 33,943 0 0
jelialls 33,669 33,669 0 0

At I 101 101 0 0
24l 173 173 0 0
AHLE X2 AS I 38,123 38,123 0 0
jlialal 33,782 33,782 0 0
24l 3,041 3,041 0 0
At I 1,300 1,300 0
SSE0tLsEHAMEEHNEE 55,846 54,846 A 1,000 A2
jlialla 31,184 31,184 0 0
Fotole el 7,330 7,330 0 0
244l 4,282 4,282 0 0
At I 12,050 12,050 0 0

A B (KR E) 1,000 0 A 1,000 A 100
SS=E0tLIsEHAZHI2ESE 55,846 54,846 A 1,000 A2
jliallal 32,494 32,494 0 0
Fotoled olAd| 7,415 7,415 0 0
234l 4,550 4,550 0 0
Ar 10,387 10,387 0 0
AL B (X2 E) 1,000 0 A 1,000 A100
=2 XA 97,620 97,620 0 0
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(A)

20224

2 e

(B)

1]

g (A) ()
ANASHSK 7,000 7,000
G=2stnsasI2t 43,406 42,512
o124d| 32,707 32,707
2l 8,693 8,693
2IH(NHRE 2,006 1,112
ROt= 22010 5,940 5,940
Ated| 5,940 5,940
JIE4&E At 90,070 88,855
tsagol A 57,331 57,331
IS A ALY 24,260 24,260
IEAE2E 3,249 3,249
NS AY 5,230 4,015
SHOIZH SR ALY 6,000 6,000
o124d| 3,000 3,000
At =& 1,530 1,530
Za2dl 1,470 1,470
st HAAIS I 33,690 27,922
At I 33,690 27,922
K& EAL LI (ALS] = 3 7,000 7,000
KNEIIE ALY 7,000 7,000 0
191D X2 AFS B 20,000 20,000 0
At I 20,000 20,000 0
ASIEZE oM IE A 89,500 89,500 0
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(A)
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(B)

(S &)

20224 20224 =2

Of &t 04 EPLL

o | g (A) (B) =(B-A) | HIS(%)
43,442 43,442 0 0
10,248 10,248 0 0
35,810 35,810 0 0
Z0Pt= CH230loi = At 3,000 3,000 0 0
3,000 3,000 0 0
0 10,000 10,000 0 0
1,630 1,630 0 0
8,370 8,370 0 0
6,000 6,000 0 0
6,000 6,000 0
oigigl & JIEt 3,790 1,913 AN1,877 AB0
3,790 1,913 AN1,877 AB0
3,790 1,913 AN1,877 AB0
0 16,785 16,785 100
0 16,785 16,785 100
0 16,785 16,785 100




